L’ Arrondissement (C)
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Arrondissez chaque nombre ci-dessous a la centaine pres.
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L’ Arrondissement (C) Solutions

551
600

654
700

679
700

8.030
8.000

1.037
1.000

34.612
34.600

22.630
22.600

74.165
74.200

Arrondissez chaque nombre ci-dessous a la centaine pres.

553 727

600 700

696 693

700 700

135 4.753
100 4.800
9.278 6.430
9.300 6.400
2.390 5.505
2.400 5.500
39.089 65.476
39.100 65.500
20.808 48.110
20.800 48.100
99.236 762.240
99.200 762.200

831
800

324
300

6.394
6.400

6.001
6.000

7.266
7.300

86.004
86.000

33.902
33.900

806.080
806.100
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